
PACK P/M
1 Seat Apron #1 (475x90x20mm) P210-124C R70527 HDPE 2 F M
2 Arm Assembly #1 (828x630x80mm) P210-124C R70643 HDPE 1 K M
3 Back Board #1 (634x76x18mm) P210-124C R70644 HDPE 1 K M
4 Back Board #2 (665x76x18mm) P210-124C R70645 HDPE 1 K M
5 Back Board #3 (681x76x18mm) P210-124C R70646 HDPE 1 K M
6 Back Board #4 (684x76x18mm) P210-124C R70647 HDPE 1 K M
7 Back Board #5 (681x76x18mm) P210-124C R70648 HDPE 1 K M
8 Back Board #6 (665x76x18mm) P210-124C R70649 HDPE 1 K M
9 Back Board #7 (634x76x18mm) P210-124C R70650 HDPE 1 K M
10 Arm Assembly #2 (828x630x80mm) P210-124C R70651 HDPE 1 K M
11 Seat Board #1 (518x75x18mm) P210-124C R70652 HDPE 1 K M
12 Seat Board #2 (518x50x15mm) P210-124C R70653 HDPE 8 K M
13 Bottom Frame (656x518x85mm) P210-124C R70654 HDPE 1 K M
14 Back Rail #1 (545x40x18mm) P210-124C R70655 HDPE 1 K M
15 Back Rail #2 (516x38x25mm) P210-124C R70656 HDPE 1 K M
16 Back Rail #3 (455x25x16.5mm) P210-124C R70657 HDPE 1 F M
17 Seat Board #3 (518x75x18mm) P210-124C R70658 HDPE 1 K M
18 Seat Apron #2 (520x75x20mm) P210-124C R70544 HDPE 1 K M
19 Top Stretcher (518x50x20mm) P210-124C R70659 HDPE 1 K M
20 Screw Pack #1 (Seat Apron) P210-124C R70546 M4x37mm Pan Head Screw(4) 1 G P

21 Screw Pack #2 (Back Board) P210-124C R70547 M4x27mm Pan Head Screw(21)
M4x47mm Pan Head Screw(14) 1 G P

22 Screw Pack #3 (Back Rail #1) P210-124C R70548 M4x27mm Pan Head Screw(14) 1 G P
23 Screw Pack #4 (Back Rail #2) P210-124C R70549 M4x47mm Pan Head Screw(14) 1 G P
24 Screw Pack #5 (Back Rail #3) P210-124C R70550 M4x27mm Pan Head Screw(7) 1 G P
25 Screw Pack #6 (Seat Board) P210-124C R70551 M4x37mm Pan Head Screw(20) 1 G P

26 Hardware Pack P210-124C R70552

1/4inx70mm Allen Bolt (12)
1/4in Lock Washer (12)
1/4in Flat Washer (14)

1/4inx8mm Block Nut (12)
1/4inx80mm Allen Screw (10)

5mm Allen Wrench (1)
1/4in Open Wrench (1)

1 G P

MATERIAL QTY.

REPLACEMENT PART DESCRIPTION FORM
MODEL #: P210-124C

FACTORY USE ONLY!!

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. October 2021 Page 1 Of 2

PART# DESCRIPTION USED ON: MRP#



SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. October 2021 Page 2 Of 2

MODEL #: P210-124C
REPLACEMENT PART DESCRIPTION FORM

26
20

21
22 23

24

25

1

7

3

4

5 6

8

9

10

11

12

13

2

14

15

16 17

18

19


